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I.  Alternate solution to discrepancy between mn and Tnn (pn¥’ 277 772 RTR )
a. No contradiction: presented from different perspectives
i. m7p. coming from north, it appears to be on the south side
ii. ppr if coming from south (closest approach), it appears to be on north side
iii.  Support: for split-perspective approach — solution to contradiction re n»an on?
1. o297 onb nows: is it on NE or SE
a.  Solution: author of myn counts via 2110 (S-E-N-W)
2. Reasonable: that mRY0n Nawy was on SW side (following order of mn)
II.  Analysis of final clause of Nwn — WRI1 PHN HVIN YRIZ 2PN K1 11D
a.  Np»Ix27pn —may “seize” offering of any n%w or nmn
i. p5n5vir may take 1 of the nnn 'nv, 4 or 5 of the n»an onY (of 12)
ii. 237 always takes 5, as per v. 1 (121 nInR — split equally between 3”n3 and others)
b.  Analysis: internal contradiction
i. %2of pnaan onY (like 2271 - 50%), then 4 or 5 of 12 (like 1121 - <50%), then »17!
ii. 23 order is a1 then ’19
1. 237 agree that re: 90 onY, must get 1, since less is a “slice” — undignified
2. 4/5: represents dispute between nTin» /1117
a. re:amount divided between nmnwn (6/6 or 7/5):
i. 37 (6/6), less than 50% is 5
ii. A7 77 (7/5), less than 50% is 4
iii. A27 entire X112 is 227:
1. Holds like: nmn '3 (7/5)
2. Challenge: should get 5 (not 4/5)
a. Answer: “4” is used when there is a third "nwn delayed due to an
upcoming (or just completed) 537
b.  Challenge: if so, why does last clause state “721 says always 5”?
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